\ér) @ (1)

\
®

1390 SUPER ADVENTURE S, orange 2025 <2025><EU><F9903Y4>

SIDE / CENTER STAND

Pos Part Number Description Additional Text Quantity
1 AB62603023000C1 Side stand 1.00
2 62503027200 Screw for side stand M10x31.2 1.00
3 61003024000 SPRING L=116 MM 05 1.00
4 61303028001 Special screw, side stand prin 1.00
5 0035100309S AH collar screw M10x30 ISA45 ONLY FOR ADVENTURE R | 2.00
6 AB2603026050 Side stand bracket 1.00
7 AB62603026000C1 Side stand bracket 1.00
8 0025080256S HH COLLAR SCREW M8X25 TX40 3.00
9 96311045000 Side stand sensor 1.00
10 00250601268 Hex collar screw M6x12 ISA30 s 1.00
11 A62603027000 Magnet bracket cmpl. 1.00

77546



